

Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director John P. Kelly
Deputy Director Frank Sadeghi
Commissioner Robert S. Arace
Commissioner Jennifier Bacchione
Commissioner Virginia E. Haines

101 Hooper Avenue Toms River, New Jersey 08754-2191 (732)929-2005 (732)505-1918

Board Meeting Agenda

Date: April 2, 2025 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding Contracts for the furnishing and delivery of ANTIFREEZE, OILS AND LUBRICANTS to PetroChoice, LLC; Pilot Thomas Logistics, LLC and Prime Lube, Inc. the lowest qualified bidders. No bids were received on Item Nos. 17, 29, 33 and 34. Recommendation is made to reject Item Nos. 26, 32, 41 and 44. All no bid and rejected items will be rebid (B2025-30)

Official Resolution#	2025000407
Meeting Date	04/02/2025
Introduced Date	04/02/2025
Adopted Date	04/02/2025
Agenda Item	m-6
CAF#	
Purchase Req. #	B2025-30
Result	Adopted

COUNTY COMMISSIONER	PRES.	ABS.	MOVE	SEC	AYE	NAY	ABST.
Kelly	~				~		
Sadeghi	~				~		
Arace	~			~	~		
Bacchione	~		~		~		
Haines		~					

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

Michelle 1. Gunther

Clerk Of The Board

CONTRACT NO. MUST BE ON ALL PAPERS, DOCUMENTS, INVOICES, VOUCHERS

B2025-30

RESOLUTION

April 2, 2025

WHEREAS, on February 4, 2025, pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of ANTIFREEZE, OILS AND LUBRICANTS for the County of Ocean; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

PetroChoice, LLC 933 First Avenue King of Prussia, PA 19406 (267) 658-9309

Prime Lube, Inc 800 Roosevelt Ave Carteret, NJ 07008 (732) 343-2338

ACJ&R Supply, LLC 550 W Ingham Ave. Ewing, NJ 08638 (609) 503-3995

Name and Address of Bidder

Pilot Thomas Logistics, LLC 1051 Mustang Drive-Suite 600 Grapevine, Texas 76051 (973) 641-6623

PPC Lubricants, LLC 305 Micro Drive Jonestown, PA 17038 (800) 772-5823

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bids, according to specifications, in each instance, namely that of, PETROCHOICE, LLC; PRIME LUBE, INC. and PILOT THOMAS LOGISTICS, LLC be accepted. No bids were received on Item Nos. 17, 29, 33 and 34. Recommendation is made to reject Item Nos. 26, 32, 41 and 44. All rejected and no bid items will be re-bid.

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY.

1. The Director and Clerk of this Board are hereby authorized and directed to enter into contracts for the furnishing and delivery of Antifreeze, Oils and Lubricants for the County of Ocean, for the contract period from date of award through April 1, 2026, a period of one (1) year or until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15.

Introduced on Adopted on: April 2, 2025 Official Resolution#: 2025000407

April 2, 2025

A. PETROCHOICE, LLC for sixteen (16) items, to wit:

4, 7, 10, 12, 14, 15, 19, 20, 25, 35, 36, 39, 40, 43, 45 and 46. ITEM NOS. This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

B. PILOT THOMAS LOGISTICS, LLC for five (5) items, to wit:

ITEM NOS. 6, 8, 30, 37 and 42.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

C. PRIME LUBE, INC. for seventeen (17) items, to wit:

<u>ITEM NOS.</u> 1, 2, 3, 5, 9, 11, 13, 16, 18, 21, 22, 23, 24, 27, 28, 31 and 38.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

- 2. Payments for the materials to be acquired by these contracts shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. Funds for the equipment shall be available within the following funding Sources: Vehicle Services O.E.
- 4. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2025-30.

BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, Department of Purchasing, Department of Finance, Vehicle Services and the successful bidders.

Introduced on: Adopted on: Official Resolution#: 2025000407

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comm
ANTIFREEZE								* p		
1	Antifreeze, Heavy Duty, Final Charge Global Extended Life OR Peak Global HD Final Charge ELC # FXAOB1, NO SUBSTITUTIONS, Virgin Stock, Concentrated, 55 Gallon Drum	10	DRUM	\$858.00	\$8,580.00		Peak	FXAOB1	3-Days	
2	Antifreeze, Heavy Duty, Final Charge Global Extended Life OR Peak Final Charge Glob ELC #FXAOBO, NO SUBSTITUTIONS, Virgin Stock, Concentrated, Bulk Delivery	1,500	GAL	\$15.60	\$23,400.00		Peak	FXAOB1	3-Days	
3	Antifreeze, Heavy Duty, 50/50 Mix with De-ionized Water to meet EC-1, Diesel Red, OR Peak Final Charge 50/50 Global ELC #FXAB50, MUST BE COMPATIBLE WITH ITEM 1 ABOVE, NO SUBSTITUTIONS,	60	CONT	\$11.05	\$663.00		Chevron	227811 138		

Adopter on: June 1971, 2, 2025 Official Resolution#: 2025000407 Bid - ANTIFREEZE, OILS AND LUBRICANTS

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
OIL ,	· *				9 1					
4	Engine Oil, Diesel, Mobil Delvac 1300 Super CK-4, 15W-40 OR Chevron DELO 400 SDE 15W-40, CK-4, NO SUBSTITUTIONS, Virgin Stock, Bulk Delivery	3,500	GAL	\$12.23	\$42,805.00		Chevron	257004 001	3 Days	Chevron ChevronDelo SDE 15W-40 has been rebranded as Chevron Delo 400 XLE Synthetic Blend 15W-40.
5	Engine Oil, Diesel, Mobil Delvac 1300 Super CK-4, 15W-40 OR Chevron DELO 400 SDE 15W-40, CK-4 NO SUBSTITUTIONS, Virgin Stock, 55 Gallon Drum	15	DRUM	\$714.45	\$10,716.75		Chevron	257004 020	3 Days	Chevron Delo 400 SDE 15W- 40 has been rebranded as Chevron Delo 400 XLE Synthetic Blend 15W-40.
	Engine Oil, Diesel, Mobil Delvac 1300 15W-40, CK-4 OR Chevron Delo 400 SDE 15W-40, CK-4, NO SUBSTITUTIONS, Virgin Stock, 12 - 1 Quart Containers/Case		CASE	No Bid	No Bid	x				

Introduced on: April 2, 2025

Adopted on: April 2, 2025

Official Resolution#: 202500407

Bid - ANTIFREEZE, OILS AND LUBRICANTS

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
7	Engine Oil, Diesel Mobil HDEO 15W-40 or Shell Rotella T3 Fleet. Oils must meet Ford Specification WSS-M2C171-F1, Virgin Stock, 55 Gallon Drum	10	DRUM	\$562.10	\$5,621.00		Chevron	257005 020	3 Days	
8	Engine Oil, Diesel Mobil HDEO 15W-40 or Shell Rotella T3 Fleet. Oils must meet Ford Specification WSS-M2C171-F1, Virgin Stock, 6 - 1 Quart Containers/Case		CASE	No Bid	No Bid	X				
9	Synthetic Engine Oil, Chevron Delo 400 XLE, 10W-30, 55 gallon drum, NO EXCEPTIONS	5	DRUM	\$698.50	\$3,492.50					
10	Full Synthetic Motor Oil, Chevron Havoline Prods Synthetic 5W-30 GF-6A SP OR Mobil 1 5W- 30 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, Bulk Delivery	3,000	GAL	\$20.92	\$62,760.00		Chevron		3-Days	

Introduced on:

April 2, 2025

Adopted on:
Official Resolutions 202500467 ONSE DOCUMENT REPORT
Bid - ANTIFREEZE, OILS AND LUBRICANTS

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
V	11	Full Synthetic Motor Oil, Chevron Havoline Prods Synthetic 5W-30 GF-6A SP OR Mobil 1 5W- 30 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, 6 - 1 Quart Containers/Case	15	CASE	\$28.13	\$421.95		Chevron	223508 091	3 Days	
	12	Full Synthetic Motor Oil, Chevron Havoline Prods Synthetic 5W-30 GF-6A SP OR Mobil 1 5W- 30 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, 55 Gallon Drum	20	DRUM	\$1,150.60	\$23,012.00		Chevron		3 Days	
ν	13	Full Synthetic Motor Oil, 5W-20 Chevron Havoline Prods Synthetic GF-6 SP, OR Mobil 1 5W-20 GF-6A, SP, NO SUBSTITUTIONS, 6 - 1 Quart Container/Case	40	CASE	\$28.13	\$1,125.20		Chevron	223509 090	3 Days	

Introduced on:

April 2, 2025

Adopted on: ME LUBEARTI 2, 2025 Official Resolution#: 2025000407 ONSE DOCUMENT REPORT Bid - ANTIFREEZE, OILS AND LUBRICANTS

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
14	Full Synthetic Motor Oil, 5W-20 Chevron Havoline Prods Synthetic GF-6 SP, OR Mobil 1 5W-20 GF-6A, SP, NO SUBSTITUTIONS, 55 Gallon Drum	5	DRUM	\$1,150.60	\$5,753.00		Chevron		3 Days	
. 15	Full Synthetic Motor Oil, 5W-20 Chevron Havoline Prods Synthetic GF-6 SP, OR Mobil 1 5W-20 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, Bulk Delivery	1,500	GAL	\$20.92	\$31,380.00		Chevron		3 Days	
16	Petro-Canada Supreme Full Synthetic OW-20 OR Amsoil Signature Series Full Synthetic OW-20 SP GF-6A MS-6395, NO SUBSTITUTIONS, 55 Gallon Drums		DRUM .	\$978.45	\$4,892.25		Petro-Canada		3 Days	

Introduced on:

April 2, 2025

Adopted on: April 2, 2025 Official Resolution#: 2025000407 Bid - ANTIFREEZE, OILS AND LUBRICANTS

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
17	Petro-Canada Supreme Full Synthetic OW-20 OR Amsoil Signature Series Full Synthetic OW-20 SP GF-6A MS-6395, NO SUBSTITUTIONS, 6-1 Quart Containers/Case		CASE	No Bid	No Bid	X				
GREASE										
18	Chassis Lube Grease, Extreme Pressure (EP), Mobilith SHC220 NLGI Grade 2 OR Shell Gadus S5 V 220 No. 2 #550036432, NO SUBSTITUTIONS, Virgin Stock, 12 - 0.38 kg/14 oz. Cartridges/Case, MUST Be Packaged 4 Cartons of 10 Cartridges/Case	19	CASE .	\$88.67	\$1,684.73		Shell	550036432	3 Days	

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
19	Chassis Lube Grease, Extreme Pressure (EP), Mobilith SHC220 NLGI Grade 2 OR Shell Gadus S 2 V 220 No. 2 #550036341, NO SUBSTITUTIONS, Virgin Stock, 110 lb. Keg	15	KEG	\$1,064.00	\$15,960.00		Shell	550036341	3 Days	
20	Chassis Lube Grease, Extreme Pressure (EP), Mobilith SHC220 NLGI Grade 2, NO SUBSTITUTIONS, Virgin Stock, 400 lb. Drum		DRUM	No Bid	No Bid	Х				
21	Chassis Lube Grease, Extreme Pressure (EP), Shell Gadus S5 V220 No. 2 #550036432, NO SUBSTITUTIONS, Virgin Stock, 400 lb. Drum	2	DRUM	\$4,068.56	\$8,137.12		Shell	550036225	3 Days	

Introduced on:

April 2, 2025

Adopted on: April 7, 2025 Official Resolution# 202500540 ONSE DOCUMENT REPORT Bid - ANTIFREEZE, OILS AND LUBRICANTS

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
<i>V</i>	22	Grease, Extreme Pressure (EP), Mobilgrease XHP222 NLGI Grade, Color: Dark Blue OR Chevron Starplex EP 2 #259118- 652, NO SUBSTITUTIONS, Virgin Stock, 40- 14.1oz. Cartridges/Case, MUST Be Packaged 4 Cartons of 10 Cartridges/Case	15	CASE	\$140.70	\$2,110.50		Chevron	259118 243	3 Days	
V	23	Grease, Extreme Pressure (EP), Mobilgrease XHP222 NLGI Grade, Color: Dark Blue OR Chevron Starplex EP 2 #259118- 873, NO SUBSTITUTIONS, Virgin Stock,120 lb. Drum	2	DRUM	\$452.40	\$904.80		Chevron	259118 625	3 Days	
V	24	Grease, Mobilux EP 23 OR Chevron Multifak EP 000 #274508 565, NO SUBSTITUTIONS, Virgin Stock, 5 Gallon Pail	5	PAIL	\$149.10	\$745.50		Chevron	274508565	3 Days	

Introduced on:

April 2, 2025

Adopted on: Adopted on Adopted on

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
	25	Grease, Moly Lithium for Hydraulic Bridge Maintenance, Mobilux EP 2, 5 Gallon Pail, NO SUBSTITUTIONS		PAIL	No Bid	No Bid	x	s			
	26	Gear Oil, Mobilube HD Plus 85W-140, API GL5, NO SUBSTITUTIONS, Virgin Stock, 12-1 Quart Containers/Case		CASE	No Bid	No Bid	х				
V	27	Gear Oil, Mobilube HD Plus 85W-140, API GL5 OR Chevron #223033 Delo Gear EP5 85W- 140 625, NO SUBSTITUTIONS, Virgin Stock, 120 lb. Drum	5	DRUM	\$507.60	\$2,538.00		Chevron	224504 625		S

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments
28	Gear Oil, Automotive, Limited Slip Application, Mobil 1 Synthetic Gear Lubricant LS 75W-140, API GL- 5 OR Shell Pennzoil Platinum Axle SAE 75W-140 #550042070, NO SUBSTITUTIONS, Virgin Stock, 12-1 Quart Containers/Case	10	CASE	\$220.49	\$2,204.90		Shell	550042070		
29	Gear Oil, Automotive, Limited Slip Application, Mobil 1 Synthetic Gear Lubricant LS 75W-140, API GL- 5 OR Shell Pennzoil Platinum Axle SAE 75W-140 #550042070, NO SUBSTITUTIONS, Virgin Stock, 120 Lbs. Drum		DRUM	No Bid	No Bid	X				
30	Gearbox Oil, Chevron Meropa ISO 220, 5 gallon pail, NO EXCEPTIONS	5	PAIL	\$143.50	\$717.50		Chevron	277211 565		ŝ

Introduced on:

Introduced on: April 2, 2025

Adopter Official Resolution#: 2025000407

Bid - ANTIFREEZE, OILS AND LUBRICANTS

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
V	31	Transmission Fluid, Automatic, Mobil Delvac Synthetic OR Chevron (BASF) Emgard 2805 ATF (Meets TES-295 Warranty TI/EVO 0140 E), NO SUBSTITUTIONS, Virgin Stock, 55 Gallon Drum	20	DRUM	\$1,412.40	\$28,248.00		Chevron	223040 020	3 days	Rebranded as Chevron Delo Synthetic ATF HD
	32	Transmission Fluid, Amsoil Signature Series Synthetic Multi Vehicle, NO SUBSTITUTIONS, Virgin Stock, 12-1 Quart Containers/Case		CASE	No Bid	No Bid	X				
	33	Transmission Fluid, Automatic Amsoil Signature Series Synthetic ATF, Fuel Efficient, NO SUBSTITUTIONS, Virgin Stock, 12-1 Quart Containers/Case		CASE	No Bid	No Bid	X				

Introduced on:

April 2, 2025

Adopted on: April 2,225 Official Resolution#: 202500407 Bid - ANTIFREEZE, OILS AND LUBRICANTS

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
	37	Hydraulic Fluid, Castrol Dual Range HV 68 or Mobil Excel 68, 5 Gallon Pail, NO SUBSTITUTIONS		PAIL	No Bid	No Bid	х				
V	38	Hydraulic Fluid, Shell Tellus S2V68 or Mobil Excel 68, 55 Gallon Drum, NO SUBSTITUTIONS	1	DRUM	\$757.35	\$757.35		Shell	550045512	3 Days	
	39	Hydraulic Fluid, Shell Tellus S2VX22 or Mobil Excel 22, 55 Gallon Drum, NO SUBSTITUTIONS	2	DRUM	\$919.05	\$1,838.10		Shell	550045514	3 Days	
	40	Hydraulic Fluid, Mobil DTE 10 Excel 32, 5 gallon pail, NO SUBSTITUTIONS		PAIL	No Bid	No Bid	. x				
	41	Hydraulic Fluid, Wheelchair Lift, Duragard HITEK Ultra HVI-26 Hydraulic Fluid, 5 gallon pail		PAIL	No Bid	No Bid	X				

Introduced on:

April 2, 2025

Adopted on:
Official Resolution#: 2025000407 ONSE DOCUMENT REPORT
Bid - ANTIFREEZE, OILS AND LUBRICANTS

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
3	Antifreeze, Heavy Duty, 50/50 Mix with De-ionized Water to meet EC-1, Diesel Red, OR Peak Final Charge 50/50 Global ELC #FXAB50, MUST BE COMPATIBLE WITH ITEM 1 ABOVE, NO SUBSTITUTIONS, Virgin Stock, 1 Gallon Container		CONT	No Bid	No Bid	X				
OIL	A Commence									
4	Engine Oil, Diesel, Mobil Delvac 1300 Super CK-4, 15W-40 OR Chevron DELO 400 SDE 15W-40, CK-4, NO SUBSTITUTIONS, Virgin Stock, Bulk Delivery	3,500	GAL	\$9.33	\$32,655.00		Mobil			
5	Engine Oil, Diesel, Mobil Delvac 1300 Super CK-4, 15W-40 OR Chevron DELO 400 SDE 15W-40, CK-4 NO SUBSTITUTIONS, Virgin Stock, 55 Gallon Drum	15	DRUM	\$729.40	\$10,941.00		Mobil			

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
4	·	Engine Oil, Diesel, Mobil Delvac 1300 15W-40, CK-4 OR Chevron Delo 400 SDE 15W-40, CK-4, NO SUBSTITUTIONS, Virgin Stock, 12 - 1 Quart Containers/Case		CASE	No Bid	No Bid	X				
\	7	Engine Oil, Diesel Mobil HDEO 15W-40 or Shell Rotella T3 Fleet. Oils must meet Ford Specification WSS-M2C171-F1, Virgin Stock, 55 Gallon Drum	10	DRUM	\$539.65	\$5,396.50		Mobil			
	8	Engine Oil, Diesel Mobil HDEO 15W-40 or Shell Rotella T3 Fleet. Oils must meet Ford Specification WSS-M2C171-F1, Virgin Stock, 6 - 1 Quart Containers/Case	·	CASE	No Bid	No Bid	x				
	9	Synthetic Engine Oil, Chevron Delo 400 XLE, 10W-30, 55 gallon drum, NO EXCEPTIONS		DRUM	No Bid	No Bid	X				

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
10	Full Synthetic Motor Oil, Chevron Havoline Prods Synthetic 5W-30 GF-6A SP OR Mobil 1 5W- 30 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, Bulk Delivery	3,000	GAL	\$8.89	\$26,670.00	8	Mobil			
11	Full Synthetic Motor Oil, Chevron Havoline Prods Synthetic 5W-30 GF-6A SP OR Mobil 1 5W- 30 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, 6 - 1 Quart Containers/Case		CASE	No Bid	No Bid	X				
12	Full Synthetic Motor Oil, Chevron Havoline Prods Synthetic SW-30 GF-6A SP OR Mobil 1 SW- 30 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, S5 Gallon Drum	20	DRUM	\$487.20	\$9,744.00		Mobil			

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
	13	Full Synthetic Motor Oil, 5W-20 Chevron Havoline Prods Synthetic GF-6 SP, OR Mobil 1 5W-20 GF-6A, SP, NO SUBSTITUTIONS, 6 - 1 Quart Container/Case		CASE	No Bid	No Bid	X				
>	14	Full Synthetic Motor Oil, 5W-20 Chevron Havoline Prods Synthetic GF-6 SP, OR Mobil 1 SW-20 GF-6A, SP, NO SUBSTITUTIONS, 55 Gallon Drum	5	DRUM	\$1,124.59	\$5,622.95		Mobil			
V	15	Full Synthetic Motor Oil, 5W-20 Chevron Havoline Prods Synthetic GF-6 SP, OR Mobil 1 SW-20 GF-6A, SP, NO SUBSTITUTIONS, Virgin Stock, Bulk Delivery	1,500	GAL	\$8.63	\$12,945.00		Mobil			

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
V	19	Chassis Lube Grease, Extreme Pressure (EP), Mobilith SHC220 NLGI Grade 2 OR Shell Gadus S 2 V 220 No. 2 #550036341, NO SUBSTITUTIONS, Virgin Stock, 110 lb. Keg	15	KEG	\$850.65	\$12,759.75		Mobil			
V	20	Chassis Lube Grease, Extreme Pressure (EP), Mobilith SHC220 NLGI Grade 2, NO SUBSTITUTIONS, Virgin Stock, 400 lb. Drum	10	DRUM	\$2,908.32	\$29,083.20		Mobil			
	21	Chassis Lube Grease, Extreme Pressure (EP), Shell Gadus S5 V220 No. 2 #550036432, NO SUBSTITUTIONS, Virgin Stock, 400 lb. Drum		DRUM	No Bid	No Bid	X				,

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:	ł
<i>\</i>	25	Grease, Moly Lithium for Hydraulic Bridge Maintenance, Mobilux EP 2, 5 Gallon Pail, NO SUBSTITUTIONS	10	PAIL	\$154.43	\$1,544.30		Mobil				
	26	Gear Oil, Mobilube HD Plus 85W-140, API GL5, NO SUBSTITUTIONS, Virgin Stock, 12-1 Quart Containers/Case		CASE	No Bid	No Bid	×					
	27	Gear Oil, Mobilube HD Plus 85W-140, API GL5 OR Chevron #223033 Delo Gear EP5 85W- 140 625, NO SUBSTITUTIONS, Virgin Stock, 120 Ib. Drum	5	DRUM	\$1,276.19	\$6,380.95		Mobil				

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
34 HYDRAULIC FLU	Transmission Fluid, Automatic, Motorcraft Mercon ULV part number: XT-12- QULV or Valvoline ULV Transmission Fluid part number: 888460, NO SUBSTITUTIONS, Virgin Stock, 12-1 quart containers/case Must Meet Ford Specification WSS-M2C949-A		CASE	No Bid	No Bid	X			,	
35	Hydraulic Fluid, Tractor, Exxon Mobil #111139 OR Chevron 1000 THF #226606, NO SUBSTITUTIONS, Virgin Stock, 55 Gallon Drum	16	DRUM	\$509.06	\$8,144.96		Mobil			
36	Hydraulic Fluid, Tractor, Exxon Mobil #100037 OR Chevron 1000 THF #226606, NO SUBSTITUTIONS, Virgin Stock, Bulk Delivery	2,500	GAL	\$8.73	\$21,825.00		Mobil			

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
	37	Hydraulic Fluid, Castrol Dual Range HV 68 or Mobil Excel 68, 5 Gallon Pail, NO SUBSTITUTIONS	1	PAIL	\$88.49	\$88.49		Mobil			_
	38 .	Hydraulic Fluid, Shell Tellus S2V68 or Mobil Excel 68, 55 Gallon Drum, NO SUBSTITUTIONS	1	DRUM	\$921.08	\$921.08		Mobil			
V	39	Hydraulic Fluid, Shell Tellus S2VX22 or Mobil Excel 22, 55 Gallon Drum, NO SUBSTITUTIONS	2	DRUM	\$829.14	\$1,658.28		Mobil			
V	40	Hydraulic Fluid, Mobil DTE 10 Excel 32, 5 gallon pail , NO SUBSTITUTIONS	10	PAIL	\$90.12	\$901.20		Mobil			
	41	Hydraulic Fluid, Wheelchair Lift, Duragard HITEK Ultra HVI-26 Hydraulic Fluid, 5 gallon pail		PAIL	No Bid ,	No Bid	х				

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
	42	Hydraulic Oil, Chevron Delo Torque Force Synthetic 5W-30, 55 gallon drum, As Specified, or Equal		DRUM	No Bid	No Bid	х				
/	43	Hydraulic Fluid, Mobil Nuto H 46, 5 Gallon Pail, NO SUBSTITUTIONS	5	PAIL	\$48.13	\$240.65		Mobil			
	44	Hydraulic Oil, Hitachi Super EX- 46HN, Zinc Free, 55 gallon drum, NO SUBSTITUTIONS		DRUM	No Bid	No Bid	Х				
	DIESEL EXHAUST	FLUID (DEF)				y			4 - 1		
V	45	Ultra Pure DEF, Terracair by Brenntag (MUST BE 32.5% UREA SOLUTION) OR Blue Sky 32.5% Diesel Exhaust Fluid (DEF) #30003 - 330, Virgin Stock, 55 Gallon Drum, As Specified, or Equal	15	DRUM	\$112.75	\$1,691.25		Musket			

Line Ite	em Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:	ĺ
46	Ultra Pure DEF, Terracair by Brenntag (MUST BE 32.5% UREA SOLUTION) OR Blue Sky 32.5% Diesel Exhaust Fluid (DEF) Virgin Stock, Bulk Delivery, As Specified, or Equal **MUST Be Able To Fill Tank Using OPW2" Stainless Steel Adapter, SKU OPW1672ANSS20 **		GAL	\$1.55	\$11,625.00		Musket				

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
~	6	Engine Oil, Diesel, Mobil Delvac 1300 15W-40, CK-4 OR Chevron Delo 400 SDE 15W-40, CK-4, NO SUBSTITUTIONS, Virgin Stock, 12 - 1 Quart Containers/Case	10	CASE	\$69.75	\$697.50		CHEVRON	CHV271540DSD121Q	72HRS	
	7	Engine Oil, Diesel Mobil HDEO 15W-40 or Shell Rotella T3 Fleet. Oils must meet Ford Specification WSS-M2C171-F1, Virgin Stock, 55 Gallon Drum	10	DRUM	\$545.60	\$5,456.00		SPX	SPX271540SHDODRUM	72HRS	
V	8	Engine Oil, Diesel Mobil HDEO 15W-40 or Shell Rotella T3 Fleet. Oils must meet Ford Specification WSS-M2C171-F1, Virgin Stock, 6 - 1 Quart Containers/Case	2	CASE	\$57.21	\$114.42		CASTROL	CAS271540CRBM121Q	72HRS	
	9	Synthetic Engine Oil, Chevron Delo 400 XLE, 10W-30, 55 gallon drum, NO EXCEPTIONS	5	DRUM	\$715.00	\$3,575.00		SPX	SPX271030SHSBDRUM	72HRS	

Introduced on:

April 2, 2025

Adopted on: THOM April 2, 2025 Official Resolution#: 2025060407CS] RESPONSE DOCUMENT REPORT Bid - ANTIFREEZE, OILS AND LUBRICANTS

Page 8

Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Cor
28	Gear Oil, Automotive, Limited Slip Application, Mobil 1 Synthetic Gear Lubricant LS 75W-140, API GL- 5 OR Shell Pennzoil Platinum Axle SAE 75W-140 #550042070, NO SUBSTITUTIONS, Virgin Stock, 12-1 Quart Containers/Case		CASE	No Bid	No Bid	X.				
29	Gear Oil, Automotive, Limited Slip Application, Mobil 1 Synthetic Gear Lubricant LS 75W-140, API GL- 5 OR Shell Pennzoil Platinum Axle SAE 75W-140 #550042070, NO SUBSTITUTIONS, Virgin Stock, 120 Lbs. Drum		DRUM	No Bid	No Bid	x				
30	Gearbox Oil, Chevron Meropa ISO 220, 5 gallon pail, NO EXCEPTIONS	5	PAIL	\$123.55	\$617.75		CHEVRON	CHV650220MEROPLMT	72HRS	

Adopted on: April 2 2025 Official Resolution: 2025666467 ICS] RESPONSE DOCUMENT REPORT Bid - ANTIFREEZE, OILS AND LUBRICANTS

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
	37	Hydraulic Fluid, Castrol Dual Range HV 68 or Mobil Excel 68, 5 Gallon Pail, NO SUBSTITUTIONS	1	PAIL	\$82.90	\$82.90		CASTROL	CAS470068DRHVPAIL	72 HRS FROM RECEIPT	
	38	Hydraulic Fluid, Shell Tellus S2V68 or Mobil Excel 68, 55 Gallon Drum, NO SUBSTITUTIONS	1	DRUM	\$815.10	\$815.10		CASTROL	CAS470068DRHVDRUM	72 HRS FROM RECEIPT	
	39	Hydraulic Fluid, Shell Tellus S2VX22 or Mobil Excel 22, 55 Gallon Drum, NO SUBSTITUTIONS	2	DRUM	\$977.90	\$1,955.80		CHEVRON	CHV470022RHDZDRUM	72 HRS FROM RECEIPT	
	40	Hydraulic Fluid, Mobil DTE 10 Excel 32, 5 gallon pail , NO SUBSTITUTIONS		PAIL	No Bid	No Bid	Х			72 HRS FROM RECEIPT	
	41	Hydraulic Fluid, Wheelchair Lift, Duragard HITEK Ultra HVI-26 Hydraulic Fluid, 5 gallon pail	5	PAIL	\$79.30	\$396.50		CASTROL	CAS470032DRHVPAIL	72 HRS FROM RECEIPT	-

Introduced on:

April 2, 2025

Adopted on: April 2, 2025 Official Resolution#: 2025000407 ICS] RESPONSE DOCUMENT REPORT Bid - ANTIFREEZE, OILS AND LUBRICANTS

	Line Item	Description	Estimated Qty.	Unit of Measure	Unit Cost	Total Cost	No Bid	Brand:	Part #:	Delivery, A.R.O.:	Comments:
ν	42	Hydraulic Oil, Chevron Delo Torque Force Synthetic 5W-30, 55 gallon drum, As Specified, or Equal	5	DRUM	\$1,331.55	\$6,657.75		CASTROL	CAS590000TRNCDRUM	72 HR FROM RECEIPT	
	43	Hydraulic Fluid, Mobil Nuto H 46, 5 Gallon Pail, NO SUBSTITUTIONS	5	PAIL	\$36.55	\$182.75		SPX		72 HRS FROM RECEIPT	
	44	Hydraulic Oil, Hitachi Super EX- 46HN, Zinc Free, 55 gallon drum, NO SUBSTITUTIONS	5	DRUM	\$547.25	\$2,736.25		SPX		72 HRS FROM RECEIPT	
	DIESEL EXHAUS										
	45	Ultra Pure DEF, Terracair by Brenntag (MUST BE 32.5% UREA SOLUTION) OR Blue Sky 32.5% Diesel Exhaust Fluid (DEF) #30003 - 330, Virgin Stock, 55 Gallon Drum, As Specified, or Equal	15	DRUM	\$170.00	\$2,550.00		SPX	SPX DEF DRUM	72 HRS FROM RECEIPT	

Introduced on:

April 2, 2025

Adopted on: THO April 2, 2025 ICS] RESPONSE DOCUMENT REPORT Bid - ANTIFREEZE, OILS AND LUBRICANTS